## INVITATION FOR BID ISSUING OFFICE:

RORY J. RESPICIO General Manager

Port Authority of Guam Government of Guam 1026 Cabras Highway, Ste. 201, Piti, Guam 96925

DATE ISSUED: November 3, 2021 BID I	NVITATION NO: IFB/PAG-022-003
BID FOR: VARIOUS LUBRICANTS AND DEGREASERS FO	R PORT'S EQUIPMENTS AND GANTRIES
SPECIFICATION: SEE ATTACHED	
DESTINATION: PORT AUTHORITY OF GUAM	
REQUIRED DELIVERY DATE: 30-45 Days Upon Receipt of Foundation on an as needed basis upon availability of funds. THIS IS AN	
INSTRUCTION TO BIDDERS:	
INDICATE WHETHER: INDIVIDUAL PARTNE	RSHIP X CORPORATION
INCORPORATED IN: GUAM	
This bid shall be submitted in duplicate with one electronic copy a 10:00 a.m., Friday, November 19, 2021 and shall be publicly specified above shall be rejected. See attached General Terms and	opened. Bid submitted after the time and date
The undersigned offers and agrees to furnish within the time specified on the schedule provided consideration to the expense of the Government in opening, tab other considerations, the undersigned agrees that this bid remains from the date opening to supply any or all the items which prices	l, unless otherwise specified by the bidder. In bulating, and evaluating this and other bids, and ins firm and irrevocable within <u>90</u> calendar days
NAME AND ADDRESS OF BIDDER:	SIGNATURE AND TITLE OF PERSON AUTHORIZED TO SIGN THIS BID:
Pacific Petroleum Trading Corp.	Andrew Park Vice President
220 E. Harmon Industrial Park Rd.	
Tamuning, Guam 96913	
AWARD: CONTRACT NO.: IFB/PAG-002-003 AMOUNT: 5	\$34,778.00 DATE: <u>12183</u> 12/30
NAME AND ADDRESS OF CONTRACTOR:	
	CONTRACTING OFFICER:
Pacific Petroleum Trading Corp.	CONTRACTING OFFICER:    Mm; lesp ( wo RORY J. RESPICIO
Pacific Petroleum Trading Corp.  220 E. Harmon Industrial Park Rd.	Ilmin Cespi con
Pacific Petroleum Trading Corp.  220 E. Harmon Industrial Park Rd.  Tamuning, Guam 96913	RORY J. RESPICIO
Pacific Petroleum Trading Corp.  220 E. Harmon Industrial Park Rd.  Tamuning, Guam 96913  SIGNATURE AND TITLE OF PERSON AUTHORIZED TO SIGN THIS CONTRACT:	RORY J. RESPICIO
Pacific Petroleum Trading Corp.  220 E. Harmon Industrial Park Rd.  Tamuning, Guam 96913  SIGNATURE AND TITLE OF PERSON	RORY J. RESPICIO

ITEM NO.	DESCRIPTION	OTY.	UNIT	UNIT PRICE	PRICE EXTENSION
1.	OIL, HYDRAULIC ISO VG#32, SAE10, ANTIWEAR	7	DR	\$ <u>457.50</u>	\$ 3,202.50
Bidding Brand	CLIUDOCANTO				
Part/M	odel Number. SUPVERVIS AW46				
Specific For Equ	tations: ANTIWEAR  5 Ton Forklifts (Hydraulics) Sullair Air Compressor (Compressor Unit) Gantry Cranes				
Date of	Delivery: 45 DAYS ARO				
2.	OIL, HYDRAULIC J2OC (JOHN DEERE), ANTI WEAR	5	DR	\$ 979.20	\$ 4,896.00
Bidding Brand:	On: SK LUBRICANTS				
Part/M	odel Number: SK UTF				
•	ipment Top lifters (Hydraulics) 10 Ton & 20 ton Forklifts (Hydraulics)				
Date of	Delivery: 45 DAYS ARO				
3.	OIL, ENGINE SAE 15W40, API CATEGORY CH-4, API CERTIFIED FOR DIESEL ENGINES	10	DR	\$ 603.50	\$6,035.00
Bidding Brand:	; On: SK LUBRICANTS				
Part/M	odel Number: ZIC X5000 15W-40				
Specific For Equ	rations: 15W-40 ipment: Top lifters, Forklift, Yard Tractors (Support Equipment) Air compressor / 37: Light Tower / Plant, Gantry Cranes	5			
Date of	Delivery: 45 DAYS ARO				
4.	OIL, ENGINE SAE 5W20, API CATEGORY SM, API CERTIFIED FOR GASOLINE ENGINES	5	DR	\$ 603.50	\$ 3,017.50
Bidding Brand:	On: SK LUBRICANTS				
Part/M	odel Number: ZIC 5W-20				
	cations: 5W-20 ripment: All Vehicles				
Date of	f Delivery: 45 DAYS ARO				

Page 30 of 34 (FB/PAG-022-803

ITEM NO.	DESCRIPTION	OTY.	UNIT	UNIT PRICE	PRICE EXTENSION
5.	FLUID, AUTOMATIC TRANSMISSION MERCON V ATF	4	DR	\$ 1,263.00	\$ 5.052.00
Bidding Brand					
Part/M	lodel Number: ZIC ATF MULTI				
	rations.  Ford Ranger, Ford Van E350, Ford Van E250, Ford F150 Truck				
Date of	f Delivery: 45 DAYS ARO				
6.	FLUID, TRANSMISSION TES-295 (OEM ALLISON APPROVED)	4	DR	\$ <u>1,473.50</u>	\$ 5,894.00
Bidding Brand:	g On: SK LUBRICANTS				
Part/M	lodel Number: ZIC ATF MULT				
	cations: iipment Yard Tractors (Transmission) Year 2007 & 2010				
Date o	f Delivery: 45 DAYS ARO				
7.	FLUID, TRANSMISSION DEXRON III (H)	5	DR	\$ 612.00	\$ 3,060,00
Bidding Brand:	g On:SK_LUBRICANTS				
Part/M	fodel Number: ZIC ATF 3				
	cations:  Jipment Tractors (Hydraulics)  Forklifts & Top lifter (Transmission)				
Date o	f Delivery: 45 DAYS ARO				
8.	OIL, GEAR SAEBOW90, API GL-5	6	DR	\$ 603.50	\$ 3,621.00
Biddin Brand:	g On: SK LUBRICANTS				
Part/N	Model Number: ZIC G-5 80W-90				
Specifi For Equ	lications: 80W-90 Lipment Top lifters, Forklifts, Tractors, Gantry Cranes				
Date o	of Delivery: 45 DAYS ARO				

Page 31 of 34 IFB/PAG-022-003

## **REQUIRED DELIVERY DATE:**

30-45 days from receipt of purchase order for a period of one (1) year upon the availability of funds.

## **NOTES:**

- 1. All Lubricants must meet or exceed Specifications as shown.
- 2. All Lubricants must be new and unused (virgin stock).
- 3. Unit of Measure "DR" refers to 55-gallon drum or 120-pound drum.
- 4. All containers must be factory sealed without leakage and filled accordingly.
- 5. Bid Item No.6 above must have OEM Allison TES-295 approval number and approved logo.
- 6. Bid Item No.5 above, NOTE: Mercon and Dexron are totally different from "MERCON V".
- 7. Dexron III-H and Mercon are not equivalent to "MERCON V".
- 8. Bid Item No.15 above must include one (1) each plastic drum pump and four (4) each quart-size spray bottles with trigger.
- 9. All Lubricants to be delivered to PAG must include the Safety Data Sheet (SDS).

## **DEFINITIONS**

AFMT	Anti-Friction Metal Treatment
API	American Petroleum Institute
ASTM	American Society for Testing & Materials for heavy duty diesel engines
CH-4	API service category for diesel engines introduced in 1998
Dexron III (H)	OEM General Motors specification for transmission fluid
GL-5	API service category for gear oil
ISO VG	Viscosity grade system for hydraulic oils, introduced by International Organization for Standardization.
J20C	John Deere Specification for tractor and hydraulic oil
MERCON V	OEM Ford specification for transmission fluid
MIL-PRF	Military Performance Specification
NAS	National Aeronautical Standard
SAE	Society of Automotive Engineers
SM	Current API service category for gasoline engines
TES-295	OEM Allison specification for transmission fluid.
WRO-EP	Wire Rope Extreme Pressure
OEM	ORIGINIAL EQUIPMENT MANUFACTURER

THESE SPECIFICATIONS HAVE BEEN DEVELOPED BY THE PORT AUTHORITY OF GUAM EQUIPMENT MAINTENANCE DIVISION JULIO D. YAP, CRANE MAINTENANCE SUPERVISOR AND JOHN LEON GUERRERO, FLEET MAINTENANCE SUPERVISOR.